1. Упростите выражение [image: https://oge.sdamgia.ru/formula/4b/4bc8d16d31df7bde23b9c2a759d3fc19p.png], найдите его значение при [image: https://oge.sdamgia.ru/formula/81/81ff88cac73246455b6b45b47edbc3c8p.png]. 2. Найдите значение выражения  [image: https://oge.sdamgia.ru/formula/13/133739a6b73b3d6bac7cbff00f42c06fp.png]  при  [image: https://oge.sdamgia.ru/formula/6d/6d4aeb406d661f3b9ae54a83c9fe03e2p.png]


3. Найдите  значение выражения [image: https://oge.sdamgia.ru/formula/57/573485c9166add45ebe48902fceb49bfp.png] при [image: https://oge.sdamgia.ru/formula/55/55fb053ad9559359915c0438ce1e6b1dp.png]

4. Найдите значение выражения [image: https://oge.sdamgia.ru/formula/f1/f1518437db917c590449cc20c09a1a76p.png] при [image: https://oge.sdamgia.ru/formula/1f/1f7966943d6344eae98345df77799527p.png]

5. Найдите [image: https://oge.sdamgia.ru/formula/4c/4cbaa79e8a395a1f866ccb6bde28145dp.png] если [image: https://oge.sdamgia.ru/formula/02/026826c52f077940eb7d6e14d8f93f72p.png]

6. Найдите значение выражения [image: https://oge.sdamgia.ru/formula/8f/8f5cd7150fbe76a7b03a8368b287eeaap.png] при [image: https://oge.sdamgia.ru/formula/03/03a323d086c69acf8fb458a4141cfbdfp.png]
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